% @ % vier Briiche, Reihenfolge der Operationen
ety

Name: Datum: Ergebnis:
I 1 3 1
—+ - +5= — - —Zx-=
0237 24 25
8xl+1—l: §+l—§x1:
5 6 2 3 2 2
E—lxé-kl: 27><1+3+g:
2 4 2 5 5 5
24><§+4—l: l—§x§+§:
2 5 4 2 2 4
2 3 1 1 2 2 1 1
“4+Ix 4 - = 4+ 4+ x - =
3 5 3 2 S5 5 3 2
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%%ﬁ' @ w% % O vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
23 8 1 1 3 1 9
—+30x = +5="=1— e
5 15 273 27520
1 1 4 1 1 1
8><_+1—_:__3_:1__3_ §+l—§xl:_3_:1__
5 6 3 30 2 3 2 2 12 12
3_1X3+1_53_ 13 27X1;3+2_11_21
2 4 2 5 40 40 5 5 5 5
1 44 1 3 3 3 5 1
Ux Z+4——=__=8_ I x4 =(-I)=(-1-
5 3 7 2 3tz
2 3 1 1 41 11 2 2 1 1 29
-+ X -t —=— =]— — -t - X — = —
35 3 2 30 30 5 5 3 2 30
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